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Guess Paper – 2010
Class – XII
Subject – Maths

1.
If f:R->S then range of f(x) = x2/( x2+1) is .
(a) [0, 1] (b) [0,1) (c) (0,1) (d) {0,1}

2.
What is the principal value of 
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3.
A matrix A of order 3 × 3 has determinant 5. What is the value of | 3A |?
4.
For what value of x: 
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5.
Find the point on the curve y = x2 – 2x + 3, where the tangent is parallel to x‐axis.
6.
What is the angle between vectors 
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 with magnitude 
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 respectively?
7.
Find the distance of the point (2, 3, 5) form y z plane.
8.
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9.
If a is unit vector and (x – a). (x + a) = 8, then find |x|.
10.
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SECTION B

11. 
Show that the value relation R in set of all integers I defined as R = {(a, b) : a+ b = even integer} is an equivalence relation.
12.
Prove that sin−1 x + cos−1 x = 900 .
13.
Using properties of determinants, find the solutions of following

[image: image7.wmf]0

2

1

3

1

3

2

3

2

1

=

+

+

+

+

+

+

+

+

+

x

x

x

x

x

x

x

x

x

equation


14.
Discuss the continuity of the function
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15
If (sin x) y = (cos y)sin x find dy/dx.
16.
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17.
Find the intervals in which the function f given by

f ( x ) = Sin x + Cos x , 0 ≤ x ≤ 2 π is strictly increasing or strictly decreasing.
18.
Evaluate the following integral as limit of sum 
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19.
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20.
Find the distance of the point (1, ‐2, 3) from the plane x – y + z = 5 measured parallel to the line 
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21.
Find a unit vector perpendicular to each of the vectors 
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22.
In a bolt factory, three machines A, B and C manufacture 25%, 35% and 40% of the total bolts manufactured. Of their output, 5%, 4% and 2% are defective respectively. A bolt is drawn at random and is found to be defective. Find the probability that it was manufactured by (i) Machine A or C. (ii) machine B.

SECTION C
23. 
Solve the system of equations:

x + 2 y – 3 z = - 4, 2 x + 3 y + 2 z = 2, 3 x – 3 y – 4 z = 11

24. 
Show that the volume of the greatest cylinder which can be inscribed in a cone of height hand semi-vertical angle α is 4/27 πh3 tan2 α.
25.
Find the area of the region enclosed between the circles x2 + y2 <=1 and x+y <= 1.
26.
Solve the following differential equation 
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27.
Find the shortest distance between the lines whose vector equations are:

r = ( 1 – t ) i + ( t – 2 ) j + ( 3 – 2 t ) k and r = ( s + 1 ) i + ( 2 s – 1 ) j – ( 2 s + 1 )

28. 
Let X denote the number of colleges where you will apply after your results and P(X = x) denotes your probability of getting admission in x number of colleges. It is given that 
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(a) Find the value of k.

(b) What is the probability that you will get admission in exactly two colleges?

(c) Find the mean and variance of the probability distribution.

29. 
A manufacturer makes two type of toys A and B. Three machines are needed for this purpose and the time (in minutes) required for each toy on the machine is given below.

	Types of Toys
	Machines

	
	I
	II
	III

	A
	12
	18
	6

	B
	6
	0
	9


Each machine is available for a maximum of 6 hours per day. If the profit on each toy of type A is Rs. 7.50 and that on each toy of type B is Rs. 5, show that 15 toys of type A and 30 of type B should be manufactured in a day to get maximum profit.

Or

A dietician wishes to mix together two kinds of food X and Y in such a way that the mixture contains at least 10 units of vitamin A, 12 units of vitamin B and 8 units of vitamin C. The Vitamin contents of one Kg food is given below One Kg of food X costs Rs. 16 and one Kg of food Y costs Rs. 20. Find the least cost of the mixture which will produce the required diet

	Food
	VitaminA
	Vitamin B
	Vitamin C

	X
	1
	2
	3

	Y
	2
	2
	1
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